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F10=(C53+C65+C82+C178) X 1.2 G10= CZE~

F12=(C53+C65+D82+D178) x 1.2 G12= D&ZF~
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F22=(D53+D65+C82+C178+C294) X 1.2 G22= C%HE~
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* IR = HRot LA SRR (B A) + B (HE SRR (B A)
F26=F10+F16=(C53+C65+C82+C178+D53+D65+C96+C294) x 1.2
G26=F%ZG~, CZE~
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*  ANBZAZHERSR =Bt UAZSE R R (B4R + B4 HAZ2ERS R (BT &)
F34=F12+F18=(C53+C65+D82+D178+D53+D65+D96+D294) X 1.2
G34=F%G~. D&EFA

A Jvyda
ik J200E
Bz
BE =PN
RYSL (F) 98.9
EXEETS 1.6
A 92.6
| SEEH 1.5
BE
Y4 () 108.4
EXEETS 1.8
BRiEHT S 111.4
| SEEH 1.9
BE
Bt 181.2
| SEEH 3.0
BE
Bt 207.2
| SEEHN 35
BE
BRiEHT S 179.2
| SEEM 3.0
BE
BRiE%T S 204.0
| ZEEH 3.4

1R=

JOVNAS XA

JOVNAS XA



